
SONATA

MOUNTING INSTRUCTIONS FOR THE SONATA HANDLEGB

D

PL

HU

RU

BG

ES

FR

RO

SK

CZ

GB

D

PL

HU

RU

BG

ES

FR

RO

SK

CZ

KAPASZKODÓ SZERELÉS SONATA

ÓÑÒÀÍÎÂÊÀ ÐÓ×ÅÊ SONATA

MONTA¯ UCHWYTÓW SONATA

MONTAGE DES HANDGRIFFS SONATA

MONTAJE DEL ARZÓN SONATA

MONTAGTE DES POIGNÉES SONATA

MONTARE A MÂNERULUI DE LA CADA SONATA

MONTÁŽ MADIEL SONATA

MONTÁŽ MADEL SONATA

ÌÎÍÒÀÆ ÍÀ ÄÐÚÆÊÈ SONATA



2x

4x4x 4x



The handle must be mounted before installation of the bathtub.
It cannot be mounted afterwards!

This type of bathtub has been prepared by the manufacturer with pre-drilled holes for the installation
of a handle and headrest.

In the center of the side part of the bathtub there are 2 x 2 pre-drilled openings (9mm in diameter) for
the 2 parts of the handle.
With the flat side up, place the handle against the pre-drilled holes. It should be seated to follow the
shape of the bathtub.
After finding the proper position, check that the holes in the bathtub coincide with the holes in the
handle. If not, the handle can be slightly pressed into the proper position.

Before final placement of the handle, place a small amount of silicone on the outer side of the holes,
under the washers. Put the handle in place and tighten the M8 screws and washers from the under
side of the bathtub. Tighten the screws normally. Over-tightening of the screws can cause
deformation of the handle.

CONTENTS OF THE MOUNTING KIT - HANDLE

SONATA handle
Galvanized screw M8x35
Nut M8
Galvanized washer

2 pcs
4 pcs
4 pcs
4 pcs

R
AV

AK
SI

LI
C

O
N

E

RAVAK a.s., Obecnická 285, 261 01 Pøíbram 1, ÈR
tel.: 318 427 111, 318 427 200, fax: 318 427 269, 318 427 278, e-mail: smith@ravak.cz, www.ravak.com

GB MOUNTING INSTRUCTIONS
FOR THE SONATA HANDLE

The manufacturer reserves the right to change the price, technical parameters or other facts without
a prior notice and shall bear no responsibility for the printing errors.



Die Handgriffe werden vor dem Einbau der Wanne montiert,
eine zusätzliche Montage ist nicht möglich!

Dieser Wannentyp ist durch den Hersteller für dieAnbringung von Handgriffen und einer Kopfstütze
in die vorgebohrten Öffnungen vorbereitet worden.

Im mittleren Teil der Wannenseiten sind 2 x 2 Öffnungen 9 mm für 2 Stück Handgriffe vorgebohrt.
Den Handgriff mit der flachen Seite nach oben gegen die aufgebohrten Öffnungen legen. Die
Aufsitzflächen müssen die Wannenform kopieren.
Nach Überprüfung der richtigen Position kontrollieren, ob die Öffnungen in der Wanne mit den
Öffnungen im Handgriff übereinstimmen, eventuell den elastischen Handgriff nachformen.

Ø

Vor der definitiven Befestigung des Handgriffs von der Außenseite um die Öffnung unter die
Unterlagscheibe Silikonspachtel auftragen. Den Handgriff anlegen und von derAußenseite mit den
Schrauben M8 mit Unterlagscheibe befestigen. Die Schrauben mit angemessener Kraft anziehen,
damit es nicht zu einer Beschädigung des Handgriffes kommt.

INHALT DES MONTAGESATZES - HANDGRIFF

Handgriff SONATA
Verzinkte Schraube M 8x35 mm
Mutter M8
Verzinkte Unterlagscheibe

2 St.
4 St.
4 St.
4 St.

R
AV

AK
SI

LI
C

O
N

E

Ravak Gesellschaft für Sanitärprodukte mbH, Alexanderstrasse 58, D - 45472 Mülheim an der Ruhr
Tel. (0208) 37789-30 Fax. 0208 37789-55, www.ravak.de, e-mail: info@ravak.de

D
MONTAGE DES HANDGRIFFS
SONATA

Der Hersteller behält sich das Recht auf eine Änderung von Preis, technischen Parametern oder weiteren Tatsachen
vor ohne vorherigen Hinweis und trägt keine Verantwortung für Druckfehler.



Uchwyty nale¿y zamontowaæ przed zabudowaniem wanny,
póŸniejszy monta¿ nie jest mo¿liwy.

Wanna Sonata jest przygotowana przez producenta do monta¿u uchwytów i zag³ówka.

W œrodkowej czêœci boku wanny wywiercone s¹ 2 x 2 otwory 9mm. Przy³o¿yæ uchwyt tak, aby
gwint w uchwytach odpowiada³ otworom w wannie. Miejsca styku musz¹ kopiowaæ kszta³t wanny.

Ø

Przed ostatecznym zamontowaniem uchwytu nale¿y od zewnêtrznej strony wokó³ otworu (pop
podk³adk¹) nanieœæ silikon. Przy³o¿yæ uchwyt i dokrêciæ go œrubami z zewnêtrznej strony wanny.
Nale¿y pamiêtaæ o u¿yciu podk³adek. Œruby dokrêciæ z wyczuciem aby nie dosz³o do deformacji
uchwytów.

ZAWARTOŒÆ ZESTAWU MONTA¯OWEGO

Uchwyt Sonata
Œruba ocynkowana M8 x 35

Podk³adka ocynkowana
Œruby M8

2 szt.
4 szt.
4 szt.
4 szt.

R
AV

AK
SI

LI
C

O
N

E

RAVAK POLSKA s.a., Ka³êczyn 2B, 05-825 Grodzisk Mazowiecki, POLSKA
tel.: 22 / 755 40 30, fax: 22 / 755 43 90, e-mail: ravak@ravak.pl, e-mail: info@ravak.pl, www.ravak.pl

PL MONTA¯ UCHWYTÓW SONATA

Producent zastrzega sobie prawo do zmiany ceny, paramatrów technicznych itp.
bez uprzedniego informowania i nie ponosi odpowiedzialnoœci za b³êdy w druku.



A kapaszkodókat a kád beépítése elõtt kell felszereni,
utólagos felszerelésük nem lehetséges!

Ez a kádtípus a kapaszkodók felszereléséhez elõrefúrt lyukakat tartalmaz.

Akádfal középsõ részén 2 x 2 elõrefúrt 9 mm nyílás található 2 darab kapaszkodó számára.
Helyezze a kapaszkodókat lapos felükkel felfelé az elõrefúrt nyílásokhoz. A kapaszkodó simuljon
a kádfalhoz.
Ellenõrizze le, hogy az elõrefúrt lyukak és a kapaszkodón levõ nyílások egaybeesneke,
amennyiben nem, a hajlékony kapaszkodót alakítsa úgy.

Ø

A végleges felszerelés elõtt tegyen kívülrõl a nyílások köré szilikonos tömítõt az alátétek alá.
Helyezze a helyére a kapszkodókat és rögzítsa az M8-as csavarral és az alátéttel õket. Úgy húzza
meg a csavart, hogy ne deformálódjon túlságosan a kapaszkodó.

SZERELÕKÉSZLET TARTALMA

SONATA kapaszkodó
M8 x 35 cinkezett csavar

Cinkezett alátét
Anyacsavar M8

2 db
4 db
4 db
4 db

R
AV

AK
SI

LI
C

O
N

E

RAVAK - Hungary Kft., 1142 Budapest, Erzsébet Királyné útja 125, HUNGARY
Tel.: 06(1) 223 13 15 - 16, Fax: 06(1) 223 13 14, e-mail: info@ravak.hu, www.ravak.hu

HU
KAPASZKODÓ SZERELÉS
SONATA

A gyártó fenntartja az ár, a mûszaki paraméterek ill. egyéb adottságok elõzetes figyelmeztetés nélküli
megváltoztatásának jogát, továbbá nem visel felelõsséget a sajtóhibákért.



Ðó÷êè óñòàíàâëèâàþòñÿ äî ìîìåíòà îêîí÷àòåëüíîé óñòàíîâêè
âàííû, ìîíòàæ èõ ïîñëå óñòàíîâêè âàííû íåâîçìîæåí!

Ýòîò òèï âàííû ïðîèçâîäèòåëåì ïðèãîòîâëåí äëÿ óñòàíîâêè ðó÷åê è ïîäãîëîâíèêà â çàðàíåå
íà çàâîäå âûñâåðëåííûå îòâåðñòèÿ.

Â ñåðåäèíå áîêîâîé ÷àñòè âàííû âûñâåðëåíû 2 x 2 îòâåðñòèÿ 9 ìì äëÿ 2 øòóê ðó÷åê.
Ïðèëîæèòå ðó÷êó ïëîñêîé ñòîðîíîé ââåðõ ê âûñâåðëåííûì îòâåðñòèÿì. Êîíòàêòíûå
ïëîùàäè ðó÷êè äîëæíû òî÷íî êîïèðîâàòü ïîâåðõíîñòü âàííû.
Ïðîâåðüòå ñîâïàäåíèå îòâåðñòèé â âàííå ñ îòâåðñòèÿìè â ðó÷êå. Â ñëó÷àå íàäîáíîñòè
îòêîððåêòèðóéòå ôîðìó ðó÷êè.

Ø

Äî ìîìåíòà îêîí÷àòåëüíîé óñòàíîâêè ðó÷êè ñ âíåøíåé ñòîðîíû âàííû ïî ïåðèìåòðó
îòâåðñòèé íàíåñèòå òîíêèé ñëîé ñèëèêîíîâîãî ãåðìåòèêà. Ïðèëîæèòå ðó÷êó è ñ âíåøíåé
ñòîðîíû ïðèêðóòèòå åå áîëòîì Ì8 ñ øàéáîé. Êðóòèòå ñ ïðèìåíåíèåì íåáîëüøîé ñèëû,
÷òîáû íå ïîâðåäèòü ðó÷êè.

ÌÎÍÒÀÆÍÛÉ ÍÀÁÎÐ - ÐÓ×ÊÈ

Ðó÷êà SONATA
Áîëò M8 x 35 îöèíêîâàííûé

Øàéáà îöèíêîâàííàÿ
Ãàéêà M8

2 øò.
4 øò.
4 øò.
4 øò.

OOO RAVAK ru, ul. , Moskva 125 130,
tel./fax: , e-mail: ravak@inbox.ru, www.ravak.com

Staropetrovskiy pr. 7A
007 495 710 82 83, 007 495 450 12 77

R
AV

AK
SI

LI
C

O
N

E

RU ÓÑÒÀÍÎÂÊÀ ÐÓ×ÅÊ SONATA

Ïðîèçâîäèòåëü îñòàâëÿåò çà ñîáîé ïðàâî íà èçìåíåíèå öåíû, òåõíè÷åñêèõ ïàðàìåòðîâ ëèáî äðóãèõ ôàêòîì áåç ïðåäâàðèòåëüíîãî
óâåäîìëåíèÿ è íå íåñåò îòâåòñòâåííîñòü çà òèïîãðàôñêèå îøèáêè.



Äðúæêèòå ñå ìîíòèðàò ïðåäè âãðàæäàíåòî íà âàíàòà,
äîïúëíèòåëíà ìîíòàæ íå å âúçìîæíà!

Òîçè òèï íà âàíà å ïðèãîòâåí îò ïðîèçâîäèòåëÿ çà ïîñòàâÿíå íà äðúæêè è íà îáëåãàëêà çà
ãëàâà â ïðåäâàðèòåëíî ïðîáèòè îòâîðè.

Â ñðåäíàòà ÷àñò íà ñòðàíè÷íèòå ÷àñòè íà âàíàòà èìà ïðåäâàðèòåëíî ïðîáèòè 2õ2 îòâîðà
9 ìì çà 2 áð äðúæêè. Äîïðåòå äðúæêà ñ ïëîñêàòà ÷àñò íàãîðå âúðõó ïðîáèòèòå îòâîðè.

Äîïèðàùè ïëîùè òðÿáâà äà êîïèðàò ôîðìà íà âàíàòà.
Ñëåä êàòî èçïðîáâàòå ïðàâèëíà ïîçèöèÿ, êîíòðîëèðàéòå äàëè ïàñâàò îòâîðèòå íà âàíàòà
ñ îòâîðèòå íà äðúæêàòà, åâåíòóàëíî ñôîðìèðàéòå ãúâêàâàòà äðúæêà.

Ø

Ïðåäè îêîí÷àòåëíîòî çàêðåïâàíå íà äðúæêàòà íàíåñåòå îò âúíøíàòà ñòðàíà îêîëî îòâîðà
ïîä ïîäëîæêà ñèëèêîíîâ óïëúòíèòåë. Ïîñòàâåòå äðúæêèòå è îò âúíøíàòà ñòðàíà
ãè çàêðåïåòå ñ áîëòîâå Ì8 ñ ïîäëîæêà. Áîëòîâå çàòåãíåòå ñ óìåðåíà ñèëà, çà äà íå ñå
äåôîðìèðàò äðúæêèòå.

ÑÚÄÚÐÆÀÍÈÅ ÍÀ ÊÎÌÏËÅÒ ÇÀ
ÌÎÍÒÀÆ - ÄÐÚÆÊÈ

Äðúæêà SONATA
Áîëò Ì8 õ 35 ïîöèíêîâàí

Ïîäëîæêà ïîöèíêîâàíà
Âèíò ñàìîïðîáèâåí M8

2 áð
4 áð
4 áð
4 áð

RAVAK a.s., Obecnická 285, 261 01 Pøíbram 1, ÈR
tel.: 318 427 111, fax: 318 427 269, e-mail: @ravak.cz, www.ravak.cominfo , www.ravak.cz

R
AV

AK
SI

LI
C

O
N

E

BG ÌÎÍÒÀÆ ÍÀ ÄÐÚÆÊÈ SONATA

Ïðîèçâîäèòåëÿò ñè çàïàçâà ïðàâîòî çà ïðîìåíè íà öåíèòå, òåõíè÷åñêèòå ïàðàìåòðè èëè äðóãè ïîäðîáíîñòè
áåç ïðåäâàðèòåëíî ïðåäóïðåæäåíèå è íå íîñè îòãîâîðíîñò çà ïå÷àòíè ãðåøêè.



Los arzones deben ser montados antes del empotramiento de la bañera,
la instalación posterior no es posible!

Este tipo de bañera está preparado por el fabricante para que los arzones y la cabezera sean
fijados en orificios pretaladrados.

En la parte central de las laterales de la bañera están pretaladrados 2x2 orificios Ø 9 mm para dos
arzones.
Adjunte el arzón con el lado plano direccionando hacia arriba contra los orificios taladrados. Las
áreas de contacto deben copiar la forma de la bañera.
Después de probar la posición correcta revise si los orificios en la bañera corresponden a los
orificios en el arzón, eventualmente adapte la forma del arzón flexible.

Antes de fijar definitivamente el arzón aplique masilla de silicone en vuelta del orificio del lado
externo por bajo de la arandela. Adjunte los arzones y fíjelos del lado externo usando tornillos M8
con arandela.Ajuste los tornillos usando una fuerza adecuada para no deformar los arzones.

CONTENIDO DEL JUEGO DE MONTAJE - ASAS

Asa SONATA
Tornillo M8 x 35 galvanizado

Arandela galvanizada
Tuerca M8

2 pzas
4 pzas
4 pzas
4 pzas

RAVAK IBERICA S.L., Pol. Ind. Catarroja, Calle 31, No 609, 46 470 CATARROJA (VALENCIA), Espa a
tel.: 0034 961 264 357, fax.: 0034 961 264 443, e-mail: ravak@ravak.es, ravakcz@ono.com, www.ravak.es

ñ

R
AV

AK
SI

LI
C

O
N

E

ES MONTAJE DEL ASA SONATA

El fabricante se reserva el derecho de cambiar el precio, parámetros técnicos u otros hechos
sin aviso previo y no asume la responsabilidad por faltas de imprenta.



Il faut faire le montage des poignées avant l'installation définitive
de la baignoire, le montage ultérieur n'est pas possible.

Ce type de la baignoire est adjusté pour le montage des poignées et de l'appui-tête dans les
avanttrou forés.

Dans a partie centrale de parois de la baignoire, il y a deux avant-trous Ø 9 mm pour fixer les
poignées.
Mettez les poignées sur les avanttrous pour que la surface de contact de la poignée corresponde
avec la courbe de la baignoire.
Pour déterminer la position optimale, contrôlez si les trous dans la baignoire correspondent avec
les trous dans la poignée. Le cas échéant, adjustez la poignée.

Avant de fixer définitivement la poignée, mastiquez de l'extérieur les endroits au-dessous des
rondelles. Fixez les poignées par les vis M 8 avec des rondelles (corrigez de menues incorrections
par le reforage des trous à 10 mm au maximum!). Serrez les vis avec précaution pour ne pas
déformer les poignées.

∅

ASSORTIMENT DE MONTAGE

poignée SONATA
vis zingué M 8x35 mm
écrou M8
rondelle zinguée

2 pcs
4 pcs
4 pcs
4 pcs

R
AV

AK
SI

LI
C

O
N

E

RAVAK a.s., Obecnická 285, 261 01 Pøíbram 1, ÈR
tel.: 318 427 111, fax: 318 427 269, e-mail: @ravak.cz, www.ravak.cominfo , www.ravak.cz

MONTAGTE DES POIGNÉES
SONATAFR

Tous droits du fabricant à la modification du prix, des paramètres techniques ou autres faits sans avertissement préalable réservés.
Le fabricant ne répond pas des fautes d'impression.



Mânerul trebuie montat înainte de instalarea cãzii.
Nu poate fi montat dupã !

Acest tip de cadã este prevãzut din fabricaþie cu gãuri pentru instalarea mânerului ºi a tetierei.

In centrul pãrþii laterale a cãzii se aflã 2x2 deschizãturi (9 mm diametru) pentru cele douã pãrþi ale
mânerului.
Aºezaþi mânerul peste gãurile deja existente cu partea platã în sus. Trebuie sã îl aºezaþi astfel încât
sã urmeze forma cãzii.
Dupã ce gãsiþi poziþia corespunzãtoare verificaþi dacã gãurile cãzii coincid cu gãurile mânerului.
Dacã nu, mânerul poate fi uºor apãsat în poziþia adecvatã.

Inainte de aºezarea definitivã a mânerului, puneþi o cantitate micã de silicon în partea exterioarã
a gãurilor, sub ºaibe. Potriviþi mânerul ºi strângeþi ºuruburile M8 ºi ºaibele de pe cealaltã parte
a cãzii. Strângeþi ºuruburile normal. Dacã le strângeþi prea tare puteþi deforma mânerul.

KITUL DE BAZÃ PENTRU MONTARE

mâner SONATA
ºurub galvanizat M8x35

iuliþã M8
ºaibã galvanizatã
p

2 buc.
4 buc.
4 buc.
4 buc.

R
AV

AK
SI

LI
C

O
N

E

RAVAK a.s., Obecnická 285, 261 01 Pøíbram 1, ÈR
tel.: 318 427 111, fax: 318 427 269, e-mail: @ravak.cz, www.ravak.cominfo , www.ravak.cz

RO
MONTARE A MÂNERULUI
DE LA CADA SONATA

Producãtorul îºi rezervã dreptul de a modifica preþurile, parametrii tehnici ºi alte date,
fãrã o avertizare prealabilã, fiind responsabil pentru greºelile de editare.



Madlá sa montujú pred zabudovaním vane,
dodatoèná montáž nie je možná!

Tento typ vane je už od výrobcu pripravený na osadenie madiel a podhlavníku do predvàtaných
otvorov.

V strednej èasti bokov vane sú predvàtané 2 x 2 otvory 9 mm pre 2 kusy madiel. Priložte madlo
plochou stranou nahor oproti vyvàtaným otvorom. Dosadacie plochy musia kopírovať tvar vane.
Po odskúšaní správnej polohy prekontrolujte, èi súhlasia otvory vo vani s otvormi v madle,
poprípade pružné madlo dotvarujte.

Ø

Pred definitívnym upevnením madla naneste z vonkajšej strany okolo otvoru pod podložku
silikónový tmel. Priložte madlá a z vonkajšej strany ich pripevnite skrutkami M8 s podložkou
a maticou M8. Skrutky doťahujte primeranou silou, aby nedošlo k deformácii madiel.

OBSAH MONTÁŽNEJ SADY - MADIEL

Madlo SONATA
Skrutka M8 x 35 pozinkovaná
Matica M8
Podložka pozinkovaná

2 ks
4 ks
4 ks
4 ks

R
AV

AK
SI

LI
C

O
N

E

RAVAK SLOVAKIA s.r.o., Sabinovská 5, 821 02 Bratislava,
obch. kancelária: Stará Vajnorská 4, 832 55 Bratislava

tel.: 02 444 550 01, fax: 02 444 550 02, e-mail: obchod@ravak.sk, www.ravak.com

SK MONTÁŽ MADIEL SONATA

Výrobca si vyhradzuje právo zmeny ceny, technických parametrov èi ïalších skutoèností bez predchádzajúceho upozornenia
a nenesie zodpovednosť za tlaèové chyby.



Madla se montují pøed zabudováním vany,
dodateèná montáž není možná!

Tento typ vany je výrobcem pøipraven pro osazení madel a podhlavníku do pøedvrtaných otvorù.

Ve støední èásti bokù vany jsou pøedvrtány 2 x 2 otvory 9 mm pro 2 kusy madel.
Pøiložte madlo plochou stranou nahoru proti vyvrtnaým otvorùm. Dosedací plochy musí kopírovat
tvar vany.
Po odzkoušení správné polohy pøekontrolujte zda souhlasí otvory ve vanì s otvory v madle
pøípadnì pružné madlo dotvarujte.

Ø

Pøed definitivnímupevnìním madla nanestezvnìjší strany okolo otvoru pod podložku silikonový
tmel.Pøiložte madla a z vnìjší strany je pøipevnìte šrouby M8 s podložkou a maticí M8. Šrouby
dotahujte pøimìøenou silou, aby nedošlo k deformaci madel.

OBSAH MONTÁŽNÍ SADY - MADLA

Madlo SONATA
Šroub M8 x 35 pozinkovaný
Matice M8
Podložka pozinkovaná

2 ks
4 ks
4 ks
4 ks

RAVAK a.s., Obecnická 285, 261 01 Pøíbram 1, ÈR
tel.: 318 427 111, fax: 318 427 269, e-mail: @ravak.cz, www.ravak.cominfo , www.ravak.cz

R
AV

AK
SI

LI
C

O
N

E

CZ MONTÁŽ MADEL SONATA

Výrobce si vyhrazuje právo zmìny ceny, technických parametrù, èi dalších skuteèností bez pøedchozího upozornìní a nenese odpovìdnost za tiskové chyby.







RAVAK a.s., Obecnická 285, 261 01 Pøíbram I
tel.: +420 318 427 200, 318 427 111 fax: +420 318 427 269

e-mail: info@ravak.cz, www.ravak.com

V
er

si
on

:0
8

/
20

08


